光學作業  應物系 0932370 馮勝彥
Problem 7-16
A nonreflecting, single layer of a lens coating is to be deposited on a lens of refractive index n = 1.78. Determine the refractive index of coating material and the thickness required to produce zero reflection for light of wavelength 550 nm. 
1. Determine index
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2. Determine thickness

Because zero reflection, phase difference is 
[image: image2.wmf]p



[image: image3.wmf]1

0

0

0

4

2

2

2

n

d

d

n

d

n

k

f

f

l

p

l

p

p

=

=

=



[image: image4.wmf]nm

nm

d

7

.

103

334

.

1

4

550

=

´

=


_1229175008.unknown

_1229175077.unknown

_1229175304.unknown

_1229174650.unknown

